
Back to Table of Content

KEY NO. POOLSPA CODES PART NO. DESCRIPTIONS PIECE (S) REQUIRED RETAIL PRICE 2025

1 21830510005 03016145 Ladders Left Hand-Side (AISI304) for SLF215 (Flange) 1 -                                  

1 21830510010 03016146 Ladders Left Hand-Side (AISI304) for SLF315 (Flange) 1 -                                  

1 21830510015 03016147 Ladders Left Hand-Side (AISI304) for SLF415 (Flange) 1 -                                  

1 21830510020 03016148 Ladders Left Hand-Side (AISI304) for SLF515 (Flange) 1 -                                  

1 21830510025 03016196 Ladders Left Hand-Side (AISI316) for SLF215 (Flange) 1 -                                  

1 21830510030 03016197 Ladders Left Hand-Side (AISI316) for SLF315 (Flange) 1 -                                  

1 21830510035 03016198 Ladders Left Hand-Side (AISI316) for SLF415 (Flange) 1 -                                  

1 21830510040 03016199 Ladders Left Hand-Side (AISI316) for SLF515 (Flange) 1 -                                  

2 21830510045 03016149 Ladders Right Hand-Side (AISI304) for SLF215 (Flange) 1 -                                  

2 21830510050 03016150 Ladders Right Hand-Side (AISI304) for SLF315 (Flange) 1 -                                  

2 21830510055 03016151 Ladders Right Hand-Side (AISI304) for SLF415 (Flange) 1 -                                  

2 21830510060 03016152 Ladders Right Hand-Side (AISI304) for SLF515 (Flange) 1 -                                  

2 21830510065 03016200 Ladders Right Hand-Side (AISI316) for SLF215 (Flange) 1 -                                  

2 21830510070 03016201 Ladders Right Hand-Side (AISI316) for SLF315 (Flange) 1 -                                  

2 21830510075 03016202 Ladders Right Hand-Side (AISI316) for SLF415 (Flange) 1 -                                  

2 21830510080 03016203 Ladders Right Hand-Side (AISI316) for SLF515 (Flange) 1 -                                  

3 21830510085 03016046 Cover 2 660.00                            

4 21830510090 89071801 M8*50 Screw with Washer & Nut for Flange 8 280.00                            

5* 21830510095 89070102 Ladders Stainless Steel Step (AISI304) * 2,420.00                        

5* 21830510100 89070105 Ladders Stainless Steel Step (AISI316) * 2,990.00                        

5* 21830510105 01051173 Ladders Plastic Step * 1,320.00                        

5* 21830510300 89070107 Ladders Stainless Steel Step (AISI316) with Anti-Slippery Pad * 3,290.00                        

5* 21830510110 89070108 Ladders Stainless Steel Step (AISI304) with Anti-Slippery Pad * 2,490.00                        

6 21830510115 02141006 Anti-Slippery Pad * 150.00                            

7 21830510120 112000069 M8*35 Screw with Washer for Step (AISI304) * 150.00                            

7 21830510125 112010126 M8*35 Screw with Washer for Step (AISI316) * -                                  

8 21830510130 89070104 Cap 2 280.00                            

9 21830510135 03016069 Ladders Left Hand-Side (AISI304) for SL215 1 -                                  

9 21830510140 03016070 Ladders Left Hand-Side (AISI304) for SL315 1 -                                  

9 21830510145 03016071 Ladders Left Hand-Side (AISI304) for SL415 1 -                                  

SL SERIES LADDERS REPLACEMENT PARTS

Parts of SL Series Ladder Models: NSL & SLF



9 21830510150 03016072 Ladders Left Hand-Side (AISI304) for SL515 1 -                                  

9 21830510155 03016088 Ladders Left Hand-Side (AISI316) for SL215 1 -                                  

9 21830510160 03016089 Ladders Left Hand-Side (AISI316) for SL315 1 -                                  

9 21830510165 03016090 Ladders Left Hand-Side (AISI316) for SL415 1 -                                  

9 21830510170 03016091 Ladders Left Hand-Side (AISI316) for SL515 1 -                                  

10 21830510175 03016073 Ladders Right Hand-Side (AISI304) for SL215 1 -                                  

10 21830510180 03016074 Ladders Right Hand-Side (AISI304) for SL315 1 -                                  

10 21830510185 03016075 Ladders Right Hand-Side (AISI304) for SL415 1 -                                  

10 21830510190 03016076 Ladders Right Hand-Side (AISI304) for SL515 1 -                                  

10 21830510195 03016092 Ladders Right Hand-Side (AISI316) for SL215 1 -                                  

10 21830510200 03016093 Ladders Right Hand-Side (AISI316) for SL315 1 -                                  

10 21830510205 03016094 Ladders Right Hand-Side (AISI316) for SL415 1 -                                  

10 21830510210 03016095 Ladders Right Hand-Side (AISI316) for SL515 1 -                                  

11 21830510215 89070101 Anchor Type Fittings (Concrete Pool) 2 770.00                            

Notes: NSL&SLF 215-S need 2pcs of Ladder Stainless Steel Step and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 315-S need 3pcs of Ladder Stainless Steel Step and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 415-S need 4pcs of Ladder Stainless Steel Step and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 515-S need 5pcs of Ladder Stainless Steel Step and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 815-S need 8pcs of Ladder Stainless Steel Step and 16pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 215-SR need 2pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and 4pcs of Anti-Slippery Pad and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 315-SR need 3pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and and 6pcs of Anti-Slippery Pad and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 415-SR need 4pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and and 8pcs of Anti-Slippery Pad and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 515-SR need 5pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and and 10pcs of Anti-Slippery Pad and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 815-SR need 8pcs of Ladder Stainless Steel Step with Anti-Slippery Pad and and 16pcs of Anti-Slippery Pad and 16pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)

NSL&SLF 215-P need 2pcs of Ladder Plastic Step and 4pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSL&SLF 315-P need 3pcs of Ladder Plastic Step and 6pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSL&SLF 415-P need 4pcs of Ladder Plastic Step and 8pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSL&SLF 515-P need 5pcs of Ladder Plastic Step and 10pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   

NSL&SLF 815-P need 8pcs of Ladder Plastic Step and 16pcs of M8*35 Screw with Washer for Step (AISI304 or AISI316)   


